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Max. Marks : 75
SECTION A – (10 × 2 = 20 marks)
Answer any TEN questions
1. State any two functions of Statisitcs.
2. What is Pie diagram?
3. What is survey?
4. What are the Limitations of Primary data?
5. What is the use of  Lorenz curve?
6. Distinguish between pictograms and cartograms.
7. Find mode .
32 ,   35  ,  32   , 45  ,32  , 47  ,  32  , 45 , 32 ,  50
8. If median = 20 and mean = 23 find mode.
.
9. How is standard deviation calculated?
10. σ = 6 and Mean is 30 .find the Coefficient of Variation.
11. Compute Arithmetic Mean
102   124   136   147   156
12. State the various measures of Dispersion..

SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions
13. How does statistics help in analysis?
14. What are the Qualities of a Good Questionnaire? 
15. What are the various form of Tablesused in statistics?
16. The following data relate to the expenditure of a family. Represent this data by a pie chart

	ITEMS OF EXPENDITURE
	RUPEES(PER MONTH)

	 Food 
	25000

	clothing
	10000

	rent
	12000

	recreation
	7500

	miscellaneous
	2500


17. Average of Two Numbers is 20 and their standard deviation is 5 . Find the Two Numbers.
18. Write a Short note on ‘ Ogive’
19. Compute the Coefficient of Quartile Deviation from the following data

	Marks 
	10
	20
	30
	40
	50
	60

	No. of Stu
	4
	7
	15
	8
	7
	2


SECTION C – (3 × 10 = 30 marks)
Answer any THREE questions
20. Explain the nature , scope and limitations of Statistics.
21. Bring out the merits and demerits  ofdifferent methods of collecting primary data. 
22. In a series of 5 observations , the values of mean and variance are 4.4 and 8.24. If three observations are 1 , 2 and 6 , find the other two. 
23. From the following data of weight of 122 persons ,Calculate mean, median and mode.
	Weight ( in lbs.)
	100-110
	110-120
	120-130
	130-140
	140-150
	150-160
	160-170
	170-180

	Number of Persons
	4
	6
	20
	32
	33
	17
	8
	2


24. Given the record of weekly wages paid to workers in two factories A and B
	Weekly wages in thousands of Rs.
	2-3
	3-4
	4-5
	5-6
	6-7
	7-8
	8-9

	Number of Workers
	Factory A
	15
	30
	40
	60
	30
	14
	7

	
	   Factory B
	25
	40
	60
	35
	20
	15
	5


Find (using coefficient of variation) which of the two Factories A,B is more uniform.
*******************************
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